
1) 2 + (-35)

Answer: ____________

2) (-6) - (-98)

Answer: ____________

3) (-75) + (-93)

Answer: ____________

4) 1 - (-19)

Answer: ____________

5) (-23) - (-20)

Answer: ____________

6) (-36) - (-71)

Answer: ____________

7) 95 - (-30)

Answer: ____________

8) (-55) + 42

Answer: ____________

9) (-49) - (-67)

Answer: ____________

10) (-49) + 74

Answer: ____________

11) (-43) - 79

Answer: ____________

12) 74 - (-78)

Answer: ____________

13) 79 - (-68)

Answer: ____________

14) (-83) + 28

Answer: ____________

15) 15 - (-77)

Answer: ____________
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16) 15 + (-70)

Answer: ____________

17) (-59) - (-8)

Answer: ____________

18) 55 + (-45)

Answer: ____________

19) (-91) + (-55)

Answer: ____________

20) (-4) - 71

Answer: ____________

Total: ___ / 20
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Answers:

1) -33 2) 92 3) -168 4) 20 5) -3 6) 35 7) 125

8) -13 9) 18 10) 25 11) -122 12) 152 13) 147 14) -55

15) 92 16) -55 17) -51 18) 10 19) -146 20) -75
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